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. VOCABULARY (24 Marks)

A. From a, b, ¢ and d choose the right word: (4x3.5=14)

I. Such a marvelous piece of jewellery must be the work of a/an «...ooooo craftsman.
a) strenuous b) vulnerable ¢) meticulous d) inevitable

2. The Ministry of Foreign Affairs has prepared a booklet for the Kuwaiti citizens who
....................... abroad.
a) alleviate b) enforce ¢) reside d) impose

3. Drug dealers, in almost all countries, face the death ............. if they are convicted.
a) property b) penalty ¢) ethnieity d) empathy

4. Kuwait has carned a reputation as a state where the government acts ...
towards the poor and disadvantaged.
aj compassionately b} unfortunately ¢) ultimately d) nervously

B. Fill in the spaces with words from the list: (4x 2.5 =10)

supporters/ over a barrel/ regardless / extravagant / necessitate

5- The recurrent explosions of the gas pipe ................... ... closing the highways nearby.
6- My landlord really hasme ...................... . I 'have to either pay double my rent or move

somewhere else.

T of women's rights legisiation used to protest in different parts of the
¢ . H
world in the 20" century.

8- The journey cost much money and effort, but we insisted to CAITY ON L.l



. GRAMMAR (20 Marks)

A. From a, b, ¢ and d choose the most suitable answer: (4x2.5=1(0)

9. We didn't have enough money to spend our summer holiday in Europe, so we spent it in
Dubai ..o

a. instead of b. whereas ¢. on the other hand d. instead
{0, My brother lett to California in 2010 and ... then | haven't seen him.
a. sinee b.ago ¢. for d. yet
L Tdon't suppose anyone would object to the terms of the contract,. ... 7
a. wouldn't 1 b. would I ¢. wouldn't they d. would they
L2 161t hadn't been for your sincere effort, you ... your job,
a4 ost b. will lose ¢. would lose d. would have lost

B. Do as shown in the brackets: (2x5=10)

[3. She expressed her gratitude to her teacher for helping her, and so did her classmates.
(Negate )

I4. She was sorry to lose her iPhone last week. She ( have } it for more than 6 vyears.
( Correct the verb )

HE. LANGUAGE FUNCTIONS (20 Marks)
A. Write what vou would say in the following situations: (4x5=20)

I'5. You want to persuade your friends to join a charity event.
L6 Your teucher wonders why you always get worried and anxious before the final exams.
I'7. A police otficer asks you to describe a bank robbery you have recently wimessed.

18, Alocal journalist insists that sending criminals to prison contradicts with the human rights.



IV, SET BOOK (16 Marks)

A. Answer onlv THO of the following questions: (2x6=12)
L9- What do you suggest to eliminate " the culture of blame " in society?

20- How did the cconomic boom of the 1960s and 1970s change the demographics of the Gulf
area?

21-The Kuwaiti Red Crescent Society volunteers don't get paid, not because they are worthless,
but because they are priceless. Elaborate.

(_Any reasonable answer is accepted )

B. LITERATURE TIME: HENRY V

Answer only ONVE of the following questions: {1 x4=4)
Write your answer in not less than three meaningsful sentences for each question:
22- A good ruler can prevent falling into the circle of fake smiles and false compliments.

To what extent do you agree? Why?

23- In spite of being relentless, how is a noble king always keen on preventing bloodshed?

23



V. WRITING (30 Marks)

A Report

“llegal emigration refers to the migration of people across national borders in a way that is
legal according to the emigration laws of the destination COuntry. -

Plan and write a report of not less than (12 sentences -140) words) discussing the following
points: '

-Why some people take the risk of emigrating tlegally.

-What governments can do to solve the problem of illegal emigration.

-The consequences of emigrating illegally.

-Your advice 10 those young people who intend to take this risk.

Write the outline here { 3 Marks)
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VI-RAEDING COMPREHENSION & SUMMARY MAKING (40 Marks)
Read the following passage carefully, then answer the questions below:
The average computer user has between 5 and 15 username/password combinations to

fog in to email accounts, social networking sites, online stores, online banking accounts, or
other websites. For people who use email or other internet applications at work, this number
may exceed 30. When you add to this list the codes needed to access things like ATMs or
voicemail, the number of passwords becomes staggering. The feeling of frustration that

results from maintaining a memorized list of access codes has grown so common that it

actually has a name: password fatigue.

Having to remember so many different passwords is tritating, but it can also be
dangerous. Because it is virtually impossible to remember a unique password for each of
these accounts, many people feave handwritten lists of usernames and passwords on or next
to their computers. Others solve this problem by using the same password for every account
or using extremely simple passwords. While these practices make it easier to remember login

information, they also make it exponentially easier for thieves to hack into accounts.

single sign-on (SSO) veritication and password management software can help
mitigate this problem, but there are disadvantages of both approaches. SSO scftware is
typically used| by flarge companies, schaols;or libraries. Password management sottware,
such as ICeePuss and Password Safe, is most often used on personal computers.

The problem with both SSO verification and password management software is that the
feature which makes them useful is also what makes them endangered. If a user loses or
forgets the password required to log in to SSO software, the user will then lose access to all
of the applications linked to the SSO account. Furthermore, if a hacker can crack the SSO
password, he or she will then have access to all of the linked accounts.

Some computer scientists have suggested that instead of passwords, computers
rely on brometrics. This is a method of recognizing human users based on unique qualities.
Although biometrics is considered the most effective and safe method, we have o bear in
mind its disadvantages. Facial recognition, for example, is based on 3D recognition which is
affected by changes in the lighting, the person’s hair, the age, and if the person wear glasses.
Moreover, 1t requires camera equipment for user identification:; thus, it is not itkely to
become popular until most PCs include cameras as standard equipment. As for voice
recogmition, a person’s voice can be easily recorded and used for unauthorised PC or
network. Besides, an illness such as a cold can change a person’s voice, making absolute
identification ditficult or impossible.

_6-
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AL From . b, ¢ and d choose the most suitable answer (4x4.5=18)

- The best title for the passage might be
a- Computer privacy

b= Bromerrie security systems
c- Computer science
d- KeepPass and Password Sate

2- The pronoun "it" in (line 8 ) refers to ......... s R
a- having (o remember so many different passwords.
b- ritating password
¢- the feeling of frustration.
d- Pussword fatigue

]

3+ As used in paragraph 3, the best synonym for mitigate is
a- decrmate
b- donate
¢ alleviate
d- deteriorate

4- According to the passage, ..................... et
a- most PCs anelude cameras as standard equipment
b- single siun-onsoftware is usedby companies rather than mdividuals.

¢ peopie use 30 username/password combinations ar most,
d- computer scientists have already solved the problem of password fatigue,

B. Answer the following questions: (3x4=12)

5- What is " password fatigue " 7
0- How do people remember unique passwords for their different accounts?

7= Why ure S50 verilication and password management software double-edged weapons?



C. Summary making (10 marks)
With reference to paragraph { 5 ) of the passage and in 4 sentences answer the following

question:

What are the drawbacks of using biometrics as a verification method?

VIL TRANSEATION (10 Marks)

A- With reference to the readine passase transiate the following into sood Arabie:( 6 marks)
The average computer user has between 5 and 15 username/password combinations to log in

to ematl accounts, social networking sites, online stores, online banking accounts, or other
websites. For people who use email or other internet applications at work, this number may
exceed 30. When you add to this list the codes needed to access things fike ATMs or voicemail,

the number of passwards becomes slageering,

B. Transiate the following into sood English: (4 marls)

. ! . - . . ' t . L ' i ARt N . I T . ' '
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{ Total :160 Marks )

I- Vocabulary ( 24 Marks )

24
A)Frem a b, cand ¢ choose the most suitable word that best completes Q

each of the following sentences ;: (4x3%2=14)

1- The accident wasa/an .............................result of driving at a very high speed.
a- innocent b- fake
¢~ charitable d- inevitable
2- The government will........................new taxes on luxury goods in the near future.
a- decimate b- impose
C- rent d- emigrate
3~ We spent our summer holiday in a mountain .............................in Lebanon.
&- 1esort b- grievance
c- aftermath d- commitment
4- Promoting the culture of .................................work means encouraging all age
groups to be positive and cooperative.
a- perturbed b- invisible
¢~ voluntary d- arduous

B ) Fill in the spaces with the most suitable words from the list below : (4x2% = 10)

{ avert / welfare / nervously / obliterate /extravagant ) ©
5- Parents should always be concerned aboutthe........ ... ... ... of their children.
6- To be honest, I cion’ﬁ believehis ......................... praise and promises.

7- The firefighters managed to put the fire out immediatelyand ..................... ... a

horrible disaster.

8 - When Laila heard the news, she smiled ... ... .. ... ... ... ... .. and left the place .

(1)
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[i- Grammar ( 20 Marks )

A b From 2. b, ¢ and d choose the word or phrase that best completes each of the

following sentences: (4x2% = 10) Q

9- If our team had tramed well [ they ..................... ... ... .. the final match

a-would have won b~ would win ¢- had won d- will win
10~ e ...the first half of the game, the second half was dull and boring.

a- On the omef hand b- In comparison with ¢~ Whereas d- But
11-The boss warned youto comeearly,..........................°

a-hasn’t he b- doesn’t he ¢- does he d- didn’t he
12- Dana has been playing tennis ... ... .. ......she was twelve years old.

a- before b-ago ¢- since d- for
B ) Do as shown between brackets : {2 x 5= 16} O
13- Air pollution causes serious health problems. ( Make Passive )

14- The main purpose of sending criminals to prison is to protect society. ( Ask a guestion )

1ii- Language Functions {( 20 Marks ) ‘

Write what vou would sav in the following situations : (4 ¥ 5=20 )

15~ Your friend wants to know why you didn’t attend his / her birthday party.

17- You noticed that your little brother left the water tap running after brushing his teeth,

18- Someone says that studying in the United Kingdom is more challenging than in the USA.

(2)
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IV- Set-Book Questions { 16 Marks )

4) Answer only T WO of the following questions, in meaningful sentences : ( 2% 6 =12 )

19- Why are computer crimes more difficult to solve than traditional crimes ? ©
Mention two reasons,

20- In your opinion , what measures should be taken to solve the problem of migration and
help people stay in their home countries 7

21- How do non-goversmental organizations-like The Kuwait Red Crescent Society, play
an important role and work effectively in serving humanity ?

LITERATURE TIME O
B ) Answer only ONE of the following questions ¢ ( 1 x 4 = 4)

22- From your point of view, why do countries go to war ?

23- In your opinion, how should armies treat the civilian inhabitants and properties
during wars 7 '

(3)
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V- Writing ( 3¢ )

Attempt the follewing topic:

REPORT

Living in peace is the dream of humans worldwide. The more the people of the world
understand one another, the better they will get along together.
Outline and write 2 report, of ( 12sentences / 140 words ), on this topic .

The following ideas mav help vou:

e The importance of peace for individuals and the society.
¢ The relationship between peace and other human values particularly justice.
e How we can promote and maintain peace among different nations and countries.

Writing Outline ( 3 Marks)

(4
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- VI- Reading Comprehension & Summary Making ( 40 Marks ) -

40
Read the following passage carefully, then answer the guestions that follow: '

For many people who live in cities, parks are an important part of the landscape.
They provide a place for people to relax and play sports, as well as a refuge from the harsh
environment of a city. What people often overlook is that parks also provide considerable
environmental benefits. One benefit of parks is that plants absorb carbon dioxide and emit
oxygen, which humans need to breathe. According to one study, an acre of trees can absorb
the same amount of carbon dioxide that a typical car emits in 11,000 miles of driving.
Parks also make cities cooler. Scientists have long noted what is called the Urban Heat
Island Effect: building materials such as metal and concrete absorb much more of the sun’s
heat and release it much more quickly than organic surfaces like trees and grass. Because
city landscapes contain so much of these building materials, cities are usually warmer than

surrounding rural areas. Parks and other green spaces help to mitigate the Urban Heat
Island Effect.

Unfortunately, many cities canmot easily create niore parks because most land is
already being used for buildings, roads; and other essential parts of the-urban environment.
However, cities could benefit from many of the positive effects of parks by encouraging
citizens to create another type of green space: rooftop gardens. While most people would
not think of starting a garden on their roof, human beings have been planting gardens on
rooftops for thousands of years. Some rooftop gardens are very complex and require
complicated engineering, but others are simple container gardens that anyone can create
with the investment of a few hundred dollars and a few hours of work.

Rooftop gardens provide many of the same benefits as other urban park and garden
spaces, but without taking up the much-needed land. Like parks, rooftop gardens help to
replace carbon dioxide in the air with oxygen. They also help to lessen the Urban Heat
Island Effect, which can save people's money. In summer, rooftop gardens prevent
buildings from absorbing heat from the sun, which can significantly reduce cooling bills. In
winter, rooftop gardens help hold in the heat that materials like brick and concrete radiate
so quickly, leading to savings on heating bills. Rooftop vegetable and herb gardens can also
provide fresh food for city dwellers, saving them money and making their diets healthier.
Rooftop gardens are a smart environmental investment.

(6)
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- A) -With reference e the passage, choose the rioht answer from s, b . ¢ and d: :

T4K41/2m18} '

24-The best title for the passage would be
a-The importance of wurban areas b- Urban Heat Island Effect
¢- The mmportance and benefits of parks d- Types of rooftop gardens

25-The underlined verb " mitigate " in the 1% paragraph means.............................
a- consume b- destroy
¢c- alleviate d- mtensify

26-The mdei'ﬁaed pronoun “others * in the 2°, paragraph refers to ...
a- many cities b- roofiop gardens
¢~ human bemngs d- essential pa.rts;w

27-The main idea of the 3. paragraphis.... ... ...
a- disadvantages of rooftop gardens b- advantages of parks
¢- comparison between parks and gardens d- benefits of rooftop gardens

B - With reference to the passase , answer the following guestions: (3 X 4=12) Q

28- Why is a big city usually warmer than swrrounding rural areas?

€ 3 Summary Making ( 10 Marks )
With reference to the 3™ paragraph and in not less than four sentences of vour own,
answer the following guestion :

What are the main benefits of rooftop gardens?

H}
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VII- Translation { 10 Marks) ‘

A} - Translate the following( Taken From Paragraph 1) into sood Arabic (6 M) :

For many people who live in cities, parks are an important part of the landscape. O
They provide a place for people to relax and play sports, as well as a refuge from the

harsh enviromment of a city. What people often overlock is that parks also provide
considerable environmental benefits. One benefit of parks is that plants absorb carbon
dioxide and emit oxygen, which humans need to breathe.

B »Traunslate the following inte good English: (4 M) O
gl s 8N Cre g sl o Judel) Blan (o Guanll e B8 cubed il salgy -1

{%ﬁ%}é@ﬁ@@&%ﬁm@@% %@E&MJ&W?@;&W@?@L@§%&M=Z
el o

Good luck
End of Exam

(8)
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(Total : 400 Marks) ‘

| I. VOCABULARY (60 Marks)
A. Choose the correct answer from a, b, c and d, (5X6=30) '
1. Tenjoyed my stay with my family in Al-Khairan............... . for a whole week during
the vacation.
a. wildfire b. reward
¢. offence d. resort
2. If farmers continue to ..................... their land, the soil will become unproductive.
a. curtail b. overcultivate
c. concur d. inject
3. The young man who was proven................ of murder was sent to prison for 20 years.
a. guilty b. innocent
¢. worthless d. tolerant
4. Floods are always..................... Youcan't predict the damage they may cause to
people and property.
a. meticulous b. minor
c. treacherous d. apparent
5. The new secretary recetved an adequate.................. from the company for her
invaluable services.
a. legislation b. recompense
c. liberty | d. annoyance

B. Fill in the spaces with words from the list below: (3X6=30)

pass a law / reprocess / solitary / intrinsic / consensus / penalty

6. It's definitely good for our environment to ............... our waste instead of burning it.

7. The Internet undoubtedly plays a/an ......... .. role in the spread of knowledge nowadays.
8. The parliament has managed to ... ... e which forbids smoking in public places.

9. The board members agreed, by ................ , to increase the production to make up for

the huge losses.

10. Our neighbour isleading a/an ............... life after losing all his good companions.
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1L GRAMMAR (40 Marks) ‘

A. Choose the correct answer from a, b, ¢ and d. (5X4=20)
| othérjobs, bemg an air hostess can be more enjoyable.
a. Whereas b. On the other hand
c. Instead of d. In comparison with
12- Our teacher is wondering ..................... .. test paper has no name on it.
a. whose b. where
c. when d. who
13- ...................... hisinjury, the captain of the team will play the final match.
a. Unlike b. Despite
c. But d. Because
14- Tt was dark inside, ........................ we couldn't see each other clearly.
a.in order to b. the cause of
c. to d. with the result that
15- Whether T go to university ornot depends .................. . the grades [ get.
a. in b. on
c. of d. for

B. Correct the mistakes in the following seniences: (4X5=20)

ey (2)

16. In spite of the mechanic is an expert he couldn't repair the car which was bringing to

him two weeks ago.

(1) (2)
17. Please Madam, you didn't know if the dress fits you until you have tried it out.
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HIL LANGUAGE FUNCTIONS (50 Marks) ‘
Write what you would say in the following situations :( 5X10=50)

18. Your sister intends to take part in the student talent exhibition that will be held in
Dubai next July.

...................................................................................................

19.0ne of your classmates always criticizes people and embarrasses them in front of
others.

...................................................................................................
...................................................................................................
...................................................................................................

...................................................................................................

IV. SET BOOK (40 Marks)

A) Answer only (Three) questions of the following: (3x10 =30)

23. Are you for or against the spread of the culture of blame in our society? J ustify,

...............................................................................................................

.................................................................................................................

...............................................................................................................

................................................................................................................

...............................................................................................................

.................................................................................................................

..............................................................................................................

.................................................................................................................
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LITERATURE TIME
B) Answer only (One) question of the following: (1x10 =10)

27. In your opinion, what should countries do to solve their conflicts?

...............................................................................................................

...............................................................................................................

...............................................................................................................

.......................................................................................................

V- Writing (80 Marks)

. -

Attempt the following topic:
Techno-criminals rely on modern technology to commit their crimes and manage to es?z;pe

punishment.
Plan and write a repert of about 14 sentences(160 words) describing how computer
crimes are varied and difficult to solve. You can make use of the following ideas:

» The different computer crimes
* The difficulty of solving these crimes
= How people can protect themselves from these crimes

Write your outline here:
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Whrite vour topic here:
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VI- Reading Comprehension (100 Marks )
Read the following passage carefully, then answer the guestions below:

Researchers say that compared with other sports, skateboarding is relatively safe.
But they warn that a lack of standards for safety equipment and the growing popularity of
extreme forms of the sport have caused the rate of skateboarding-related injuries to grow
faster than the number of people who start skateboarding.

"Changes in the nature of the sport could account for the increased rate of mjury,"”
says researcher Flaura K. Winston, MD, PhD, of The Children's Hospital of Philadelphia,
in a news release. "In the 1990s, the sport transitioned from a 1980s style known as 'vert,'
which used 10-foot-high slopes, to 'street skating.' Street skating uses lower slopes and
increasingly complex tricks, which make it highly risky. As its name suggests, this style
encourages people to literally skate in the streets."

With the increasing popularity of skateboarding, medical centres are experiencing
increased number of skateboard injuries. Approximately 26,000 persons go to hospital
emergency rooms each year for skateboard-related injuries. Several factors: lack of
protective equipment, poor board maintenance, and inappropriate riding surfaces are
involved in these accidents,

Six of every ten skateboard injuries happen to children under fifteen years of age.
Skateboarders who have been skating for less than a week suffer one third of the injuries;
riders with a year or more of experience have the next highest number of mjuries.

Injuries to first-time skateboarders are, for the most part, caused by falls.
Experienced riders suffer injuries mainly when they fall after their skateboards strike rocks
and other irregularities in the riding surface, or when they attempt difficult movements.

Irregular surfaces account for more than half the skateboarding injuries caused by
falls. Before riding, skateboarders should check the skating surface for holes, bumps,
rocks, and debris. Areas set aside for skateboarding generally have smoother riding
surfaces. Skateboarding in the street is not advisable since it can result in collisions with
cars, causing serious injury or even death.

Before using their boards, riders should check them for hazards such as loose or
broken parts, sharp edges and wheels with nicks and cracks. Serious defects should be
corrected by a qualified repair person. Protective gear such as slip resistant, closed shoes,
helmets and specially designed padding may not fully protect skateboarders from injuries,
especially fractures. However, its use is recommended because such gear can reduce the
number and severity of injuries. Holding on to a moving vehicle should never be done
while skateboarding. Children younger than age five should not use a skateboard at all.

)
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A) Choose the correct answer froma, b, ¢ and d: (5x10=50 marks)

29. A suitable title for this passage couldbe ........ .. ... ..
a. Skateboardmg: Now and Then \1 00/
b. Skateboardmg: Your First Ride
c. Skateboardmg: Sport in Fashion
d. Skateboarding: Dangers and Prevention

30. Accordmng to Flaura K. Winston, "street skating" is
a. an old form of the sport
b. easy to leamn
c. very dangerous
d. advised for voung people

31. The underlined word "they" in paragraph 5 refersto ............... .. ... .
a. injuries
b. falls
c. experienced riders
d. first-time skateboarders

32. The underlined word "defects" in the last paragraph means .- ... .
a. repairs
b. faults
c. injuries
d. movements

33. We can understand from the passage that .
a. several factors may lead to a skateboardmg acci dent
b. people should avoid skateboarding for its high costs.
c. lack of board maintenance is responsible for all skateboarding injuries.
d. skateboard-related injuries rarely happen.

B) Answer the following questions (4x7%=30 marks)

34- What should riders check the skating surface for?
35- Why isn't it recommended to skate in the street?
36- Why should skateboarders use protective gear?

37- What makes a skateboard hazardous?
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C) Summary-making:(20 marks)

With reference to the passage, summarize the last paragraph in four sentences answering this
question:

"What preventive measures should skateboarders take to guarantee their safety?"

V1. Translation ( 30 Marks ) \@,

A: With reference to_paragraph (3)of the reading passage, translate the followine into
pood Arabic: (20 Marks)

With the increasig popularity of skateboarding, medical centres are expeniencing
mereased number of skateboard injuries. Approximately 26,000 persons go to hospital
emergency rooms each year for skateboard-related injuries. Several factors: lack of

protective equipment, poor board maintenance, and inappropriate riding surfaces are
mvolved in these accidents.

B: Translate the following into good English: (10 Marks)
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End of Exam
Good Luck
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. VOCABULARY (24 Marks)

A. From a, b, ¢ and d choose the right word: (4x3.5=14)

1.

]

Such a marvelous piece of jewellery must be the work of a/an ... . craltsman.
a) strenuous b) vulnerable ¢) meticulous d) inevitable

- The Ministry of Foretgn Affairs has prepared a booklet for the Kuwaiti citizens who
....................... dbiodd.
a) alleviate b) enforce ¢) reside d) impose

- Drug dealers, in almost all countries, face thedeath ................. ... if they are convicted.
a) property b) penalty ¢) ethnicity d) empathy

- Kuwait has earned a reputation as a state where the government acts ........oooooee oo

towards the poor and disadvantaged.
a) compussionatly b) unfortunately ¢) ultimately d} nervously

B. Fill in the spaces with words from the list: (4x 2.5=10)

5.

H-

R-

supporters /over a barrel / regardless / extravagant / necessitate
The recurrent explosions of the gas pipe ... necessitate.. closing the highways nearby.

My landlord really has me ... over a barrel. | have to either pay double my rent or move
somewhere else.

Supporter .of women's rights legislation used to protest in different parts of the world in
Ehe 20" century.

The journey cost much money and effort, but we insisted to carry on ...regardless...



. GRAMMAR (20 Marks)

A. From a, b, ¢ and d choose the most suitable answer: (4x2.5=10)

L . R, iy s~ L 2
9. We didn't have enough money to spend our summer holiday in Europe, so we Sperit it D
. : R

Dubai ...
a. instead of b. whereas ¢. on the other hand d. instead
10, My brother left to Californiain 2010and .................. ... then | haven't seen him.
€. since b.ago ¢. for d. yet
L1, I'don't suppose anyone would object to the terms of the contract, ... ?
a. wouldn't | b. would | c. wouldn't they d. would they
12 it hadn't been for your sincere effort, vou ... ... your job.
a. jost i3 will lose ¢. would lose d. would have lost

B. Do as shown in the brackets: (2x5=14)

[3. She expressed her gratitude to her teacher for helping her, and so did her classmates.

(Negate )
She didn't express fier oraritude to her ieacher for helping herand neither did her
classmuaies.

4. She was sorry 1o lose her iPhone last week. She (‘have ) it for more than 6 years.

{ Correct the verb
frad had

L DANGUAGE FUNCTIONS (20 Marks)
A. Write what you would say in the following situations: (4x5=20)

5. You want to persuade your friends to join a charity event,
Persuading / giving reasons / giving advice

16. Your teacher wonders why you always get worried and anxious before the final exams.
Justifying / giving reasons

7. A police officer asks you to describe a bank robbery you have recently witnessed.
Describing past events / presenting information

I8. A local journalist insists that sending criminals to prison contradicts with the human rights.
Discussing the law / giving reason / justifying / persuading / disagreement
( Any reasonable response is accepted )



V. SET BOOK

(16 Marks)

A. Answer oniy THO of the following questions: (2x6=12)
L9- What do you suggest to eliminate " the culture of blame " in society?
{ suggest publicising how the petty grievances clog up the court and prevent proseduti

real cruminals. Therefore, people should take responsibility for themselves. We must take care

that minor issues do not prevent our legal system from operating efficiently. The courts should
be the very last resort.

20- How did the economic boom of the 1960s and [970s change the demographics of the Gulf are
That boom necessitated a huge influx of skilled workers to the Gulf arca. Thousands of skilled
workers moved to the Galf area to work in high-tech cities such as Kawair City, These workers
frelped with the development of the area and had an opportunity for a better life.

21- The Kuwaiti Red Crescent Society volunteers don't get paid. not because they are worthless,
but because they are priceless. Elaborate.

The KRCS volfunteers provide manpower and funds. without which the KRCS would be unable

fo operate. Tliese volunteers are motivated by compassion and the desire to assist others in need

ey work witliout any expectations of reward or praise and oain satisfaction from the

knowledeoe that they fiave helped their fellow human beings.

{ Any reasonable answer is accented )

B. LITERATURE TIME: HENRY V

Answer only ONE of the following guestions: {1x4=4)
Write vour answer in not less than three meaningful sentences for each question:
22- A good ruler can prevemt falling into the circle of fake smiles and false compliments.

To whart extent do you agree? Why?
[ do agree to a greal extent because rulers are always surrounded by those who try to hide their
true tnientions by complimenting them and praising their ereai power and fust ruling. Three of
King Henry's courticrs agreed 1o betray him and conspived to murder im. In the company of
the king, they tried (o hide their true intentions by fake smiles and false compliments. Yet, he
was fully aware of thelr treachery and he hadn't been deceived by their lies.

23-In spite of being relentless, how is a noble king always keen on preventing bloodshed?

In spite of his strong desire and deep intentions, King Henry gave his opponents nore than «
chance to surrender the throne peacefully. He was willine to reason with them rather than to
resort to war. Moreover, lre gave lis instructions to treat the inhabitants of Harfleur with
respect annd compuassion and all properties were kept intact.

(Any reasonable answer is accepted )

3.



V. WRITING

{30 Marks)

A Report

“Hlegal emigration refers to the migration of people across national borders in AWt larts
dlegal according (o the emigration laws of the destination country.

Plan and write a report of not less than (12 sentences -140 words) discussing the following
points:

-Why some people take the risk of emigrating illegally.

-What governments can do to solve the problem of illegal emigration.

-The consequences of emigrating illegally,

-Your advice o those young people who intend to take this risk.

\\\
/ Write the outline here ( 3 Marks)







Read the following passage carefuily, then answer the questions below:
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VI-RAEDING COMPREHENSION & SUMMARY MAKING |

“he average Computer user has be’tween S and !5 usemanm/paxsworgi ;ibinatio s g
other websites. For peopie who use unaﬂ or omel internet dpphbaUOHS at Woﬁ%_@gm@i’m
may exceed 30. When you add to this list the codes needed to access things like ATMs or
voicematl, the number of passwords becomes staggering. The feeling of frustration that

results from maintaining a memorized list of access codes has grown so common that it
actually has a name: password fatigue

:
Having to remember so many different passwords is irritating, but it can also be
dangerous. Because it is virtually impossible to remember a unique password for each of
these accounts, many people leave handwritten lists of usernames and passwords on or next
to thetr computers. Others solve this problem by using the same password for every account
or using extremely simple passwords. While these practices make it easier to remember login
information, they also make it exponentially easier for thieves to hack into accounts.

Single sign-on (SSO) verification and password management sofiware can help
mitigate this problem, but there are disadvantages of both approaches. 88O software is
typically used by large companies, schools, or libraries. Password management software,
such as I<eePass and Password Safe, is most often used on perscnal computers.

The problem with both SSO verification and password management software is that the
feature which malkes them useful is also what makes them endangered. If a user loses or
forgets the password required to log in to SSO software, the user will then lose access 1o all
of the applications linked to the SSO account. Furthermore, if a hacker can crack the SSO
password, he or she will then have access to all of the linked accounts.

Some computer scientists have suggested that instead of passwords, computers
rely on biometrics. This is a method of recognizing human users based on unique qualities.
Although blometrics 1s considered the most effective and safe method, we have to bear in
mind its disadvantages. Facial recognition, for example, is based on 3D recognition which is
atfected by changes in the lighting, the person’s hair, the age, and if the person wear glasses.
Moreover, it requires camera equipment for user identification; thus, it is not likely to
become popular until most PCs include cameras as standard equipment. As for voice
recognition, a person’s voice can be easily recorded and used for unauthorised PC or
network. Besides, an illness such as a cold can change a person’s voice, making absolute
identification difficuit or impossible



A

I~ The best title for the passage might be .. ... .. .
a- Computer privacy
b- Biometric security systems
c- Computer science
d- KeepPass and Password Safe

]
1

The propoun "it" in (line 8 ) refers to ...
a- having to remember so many different passwords.

b- reritating password

c- the feeling of frustration.

d- Password fatipue

3- As used in paragraph 3, the best synonvm for mitigate s ...........................
a- decimate
b- donare
c- alleviate

d- deteriorate

A= According 10 The PASSROE, vt et feee e
a- most PCs/inglude vameras as Standard equipment
b- single sign-on software is used by companpies rather than individuals.
¢- people use 30U username/password combinations at most,
d- computer scientists have already solved the problem of password fatigue.

B. Answer the following questions: (3x4=12)

5- What 1s " password fatigue " 7

{1 iy the feeling of frustration that results from maintaining a memorized list of login
credenials.

6- How do pecple remember unique passwords for their different accounts?

Many people leave handwritten lists of usernames and passwords on or next to their
computers. Others solve this problemt by using the same password for every account or
usiinng exiremely simple passwords.

7- Why are 58O vertfication and password management sofiware double-ed ged weapons?

Because SOS verification and password management software can lielp mitioate the
/ g

password problem but if a user loses or forgets the password required to log in to

SSO software, the user will then lose access to all of the applicaiions linked to the SSO

account. Furthermore, if a fracker can crack the SSO password, he or she will then have

access fo all of the linked accounts.

-7



C. Summary making (10 marks) f I
With reference to paragraph ( 5 ) of the passage and in 4 sentences answer
queston: } (
What are the drawbacks of using biometrics as a verification method? kN R o

Facial recognition is based on 3D recognition which is affected by clhanges in the

s& followin
% -'
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lighting, the person’s hrair, the age, and if the person wear vlasses. Moreover, it reguires
g 7

camera eqmpment for user identification; thus, it is not likely 1o become popular until most

PCs include cameras as standard cquipment. As for voice FeCoOgRIion, a4 persor’s voice can

he easily recorded and used for unauthorised PC or network. Besides, an illness such as a

cold can clange a person’s voice, making absolute identification difficult or impossible.

VI TRANSLATION (10 Marks)

A- With reference to the reading passage translate the following into good Arabic:( 6 marks)
Fhe average computer user has between § and 15 username/password combinations to login

to email accounts, social networking sites, online stores, online banking accounts, or other
websites. For people who use email or other internet applications at work, this number may
exceed 30. When you'add fo this list the codes needed to access things like ATMS or voicemail,
the number of passwords becomes staggering.
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B. Translate the foilowing into good English: (4 marks)
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- Ali : Despite the apparent diversity of cultures throughout the world, some anthropologisis
have sei out to establish a set of universal human values.

-~ Adel : They believe that almost all caltures, fron: the simplest (o the most complex, share

several basic rraits and values.
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